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(2) o ST HHIE Bl Heia i O
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(3) TSI WY AT T SR fafiTe St Stafhalie gomwwm = faaw g s,

@) (30) W yERaHde TS TIe 4 Tt IOt gatac o ©@ 1, 2, 3 S 4 AR FAiw S aea. @

TR ITUIST FAd G ST FHIF ST ARTNS FEATATS T ST TG HEl. I FHR
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(F) rErTT T faaamaTst IR SR gt Area fafa Ress o mmmmmw
TSI VT A STIUAT 7T TR, AT SUiies el Aeidre y=mwey
3 SHTUTIeS FardTet formiur gearet want ST, SHEART Halfte we mﬁ
Arg1 Ugll,

(5) T JEIT GHM U1 SR, ATEqel T Uweie Sak Aee. S I RV I AT <&l S e faan
A W WA, M T¥ SIS0 Fh 118 U0 CEIET V¥ holuT Sieear e de < ureferar qeies
TSNS g, 379 TR Iaea wRAvdd NENeF® A fcos T $aiv Bu[ o Yiss
TR WEE 3.

(6) SUA TR TR Fess IaL WISal AU AL, THE Foxes ST WIS -Toa I e O qies SR e,

(7) WA U= SAYUTAehT e e oh T sha T SHQEARTSIT SAUfardles Qg Savi=met 7uT fo wrdien
M*‘mmwmmmwmmmmm
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(b) TR &=TETet fohT STNEEEn HYGl Tl 1.

(c) TEMTR 8rTie IRHT= ehfeld drsien Siroestauist Hyof Semeer! TR Trsvard] 3Hd.
T faumidst SR faem/3 stet oe/d?

(1) (a) =0for (b) (2) K (b) (3) (a) M (c) (4)  (a), (b) WO (c)
Consider the following statements :

In India, a Metropolitan Planning Committee -

(a) Is constituted under the provisions of the Constitution of India.

(b) Prepares the draft development plans for metropolitan area.

(c) Has the sole responsibility for implementing Government sponsored schemes in the
metropolitan area. ' '

Which of the statements given above is/are correct ?

(1)  (a) and (b) (2)  (b)only (3 (a) and (c) 4) (a) (b) and (c)

2. VIR SOOI SV Teld HEMTR WIieeh Feyerm I i ?
(1) W& (2) feeei (3) HERdl (4 °=
Which among the following cities the First Municipal Corporation was set up in India ?

(1) Madras . (2) Delhi (3) Calcutta (4) Mumbai

3. IR U § U frares st ffidd sRde d@faumren S FoREr oo
e ?
(1) 242 (K) (2) 344 (K) (3) 243 (K) (4) 324

According to which of the following Article of the Constitution, the State government has
created the State Election Commission at the state level ?

(1) 242 (K) 2) 344 (K) (3) 243 (K) @) 324

FHoAT RS S/ SPACE FOR ROUGH WORK
P.T.O.
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4. mﬁﬁumwﬁﬁmf%mﬁamﬁﬁaﬁvﬁﬁmqﬁ%m?

(1)

(2)

(3)
(4)

Wﬁmuﬁmmmﬁmmwmwmﬁ
T faftpisar fady sfyen fod .

TS B <l Y faftnisemn e um s™ean e @R o fafutisam
Ty sfyem f&o o,

HUIRTA1 @A STIHARETE Tere STaR SV Afddel 3l Hidl 3d !,
SOUH! Tl e

Which one of the following statements regarding the privileges of the State legislature is
false ?

(1)

(2)
(3)

(4)

The Constitution has extended the privileges of the State legislature to those persons
who are entitled to speak and take part in the proceedings of a House of the State
legislature.

The Constitution has also extended the privileges of the state legislature to the governor
who is also an integral part of the State legislature.

No person can be arrested within the precincts of the House without the permission of
the presiding officer.

None of the above

5. faum (A) : TEEH T TR HATE IR g HE SR
faum (R) : g T AiaHear TE SRl

(1) == (A) anftr (R) faum sfisr sa a0 (R) ® faum (A) = 309 e R

(2) =R (A) T (R) Faur SR TR g (R) € U (A) = 9 waeienor .

@) faum (A) s W (R) & THr.

(4) Faem (A) TP WY (R) @ TR

Statement (A) : The Chief Minister can dismiss a minister of the State government.
Statement (R) : The Chief Minister is the head of the State Council of ministers.
(1) Both (A) and (R) statements are true and (R) is the correct explanatibn of (A).

(2) Both (A) and (R) statements are true but (R} is not a correct explanation of (A}.

(3) Statement (A} is true but (R} is false.

(4)

Statement (A} is false but (R} is true.

oAl FHEMEE! AT/ SPACE FOR ROUGH WORK
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6. TO@UE FIVM fGUH gahra 3T ?
1) faur iode veerst $He den AU THY 955 e TF Jaaia A9,
(2) R T faur sfmedie vewi feam dem 40 fied S .
3) faur sRuden @ e 950 Hoa SAfHHR T2Uary 3.
(4) H[-FHIER T TaHeTaR 50 anftn Fifveeen fagm aRudd 36 w9 afreq.

‘Which one of the following statements is false ?

(1) The maximum strength of the legislative council is fixed at one-third of the total strength
of the Assembly.

(2) The minimum strength of the legislative council is fixed at 40 by the Constitution of
India.

(3) The President is authorised to modify the scheme of composition of a legislative Council.

(4) The Legislative Council of Jammu and Kashmir has 36 members under the provision of
its own state Constitution.

7. ' fE® WRGE 99id’ SHE H?

(1) YEHK TR BT 2) WER 9cAvR U@

(3) Sl dLIN. AHEE 4) 2N USig wHE

Who is the father of ‘All India Services’ ?

(1) Pandit Jawaharlal Nehru (2) Sardar Vallabhbhai Patel
(3) Dr. BR. Ambedkar (4) Dr. Rajendra Prasad

8. =i diagm S sifufmrar gug wamn e U auiien sifie e Ty e
T o ¥l ?
(1) 44 a1 "fgum geien sifufr=m 1978
(2) 48 =1 HfauA dweE sfufm 1984
(3) 59 =1 wfag FEyT sTfafaa 1088
(4) 62 A diaum wengT Afufrm 1989

Under which Constitution Amendment Act the President can introduce President’s rule for
more than one year in a State ?

(1) 44 Constitution Amendment Act, 1978
(2) 48" Constitution Amendment Act, 1984
(3) 59t Constitution Amendment Act, 1988
(4) 62" Constitution Amendment Act, 1989

HoAT HIWHEE AT/ SPACE FOR ROUGH WORK
P.T.O.
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W] U] RIS o=l TR 42 T4 SeAEe I EN el e ?

(1) @ T fasmmd I giafieg s,

(2) AT GERY & WA T HO0 M 59 T Fasia i T w0,

(3) I, T, HeEt-waed) onf WY ardte fawmda w6t S,

(4) SN ZEwTEEe) SERE Yeur YA FogmEE! SurEeE ST,

Which one of the following Directive Principles was not added through the 427 Constitutional
Amendment ?

(1) To secure opportunities for healthy development of children.

(2) To protect and improve the environment and to safeguard forests and wild life.

(3) To minimise inequalities in income, status, facilities and opportunities.

(4) To take steps to secure the participation of workers in the management of industries.

10.

FIVE G H1, Hellw e YoV g9 ST GRieis a8 grisie nfy s Semugien
wEfag Hom g giaen e TEE W F 9k sted . 3Tl gftewin R g ?

(1) TeHTY e

(2) HIEFAE W T

(3) ¥l 9 fa. YRA TR

(4) FoeR T =R 5. e T

In which case did the Honourable Supreme Court take the view that the ‘Fundamental Rights

and Directive Principles are the two wheels of the chariot as an aid to make social and
economic democracy a truism’ ?

(1) Golak Nath Case

(2) Keshavananda Bharati Case

(3) Shankari Prasad Vs Union of India

(4) Jilubhai Nanbhai Khachar Vs State of Gujarat

11.

fam sgrTETsE A fae

(a) YIRGE e HOUSTamE GHAS e HUGRISH e o e,

(b) T SSTHA T AT A WEEAT TG ST A,

(c) STREFT=H HEEAI= Wotdi Wgaehg SUTS =,

(d) F@H 280 =1 aGEIGER T,

qatE I

O GBI @ GANE @ @@avg @ @A
The correct statements about Finance Commission :

(@) It is an act, as the balancing wheel of Indian fiscal federalism.

(b) It consists of a Chairman and three other members.

(c) Qualifications of the members of the Commission are determined by the President.
(d) It is constituted under the provision of article 280.

Answer options :

() () ()and(d) (2) (b)and(c) ) (a) (b)and () (4) (a)and (d)

Hoe] HIHTESH 9/ SPACE FOR ROUGH WORK
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12. mﬁﬁaﬁwmaﬁ%ﬁmﬂﬁﬁrﬁmww
(1) R GE TEER SUF FE STER 53 F WAgHRiS o 8 TR HeEl IRe |

2) R ey Q9 O TgHAH oUd B SRR $O F TSrgHde faw g Tegen
HEATH! 3HS W

(3) SR UudH aTew faen @t
(4) SR FEA HATSHN T8 T e W
The Central Government can legislate on subject of State list :

(1) If Parliament declares a state list subject to be a subject of national importance by
majority vote.

(2) If Rajya Sabha declares a state subject to be a subject of national importance by
2/3 majority.

(3) If President issues an order.

(4) If Union Council of Ministers decided to do so.

13, ST AT W@ IS FOAEST _ geetre NS TRet 7.
(1 120 (2) 90 (3) 50 4) 150
No-Confidence motion, to be admitted in the Lok Sabha, needs the support of
members.

(1) 120 (2) 90 (3) 50 (4) 150

14. EOEYE! B Afvree onfor & B ¥ e AR ?

(1) s aftes - fafewn v

(2) EER U 5 ugd - Tefewn ts=eT

(3) FERIE A g - IROHT TRl

@) EEH Yo ‘ - Tl TSR

Which of the following features and their source is wrongly matched ?
(1) Rule of Law - British Constitution

(2) Procedure Established by Law - British Constitution

(3) Due Process of Law ~ U.S. Constitution

(4) Judicial Review - U.S. Constitution

Fol HIATHISH 'ﬁl"ﬁ/ SPACE FOR ROUGH WORK '
P.T.O.
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15.

8 A
fau (A) anfon =T (R) W 9oy fraer -

faa= (A): TRATS Toree] A GERRar® 3T,

T (R) : I THHEA T GRS $he TR Afss AfYsR 980 Fd .

@) (A) 3 (R) A T TR A O (R) # FAUE (A) A A A eres ST,

(2) (A) 30 (R) =T faum SR Ra OTH (R) ® faum (A) 1 faumm 9 waeisior T,
(3) (A) ® f[aum T a7® WA (R) ¥ faum g a1,

@) (A) ® [9um 999 31 WY (R) § fauM Sy o,

Assertion (A) and Reason (R}). Choose the correct option :

Assertion (A) : The Constitution of India is quasifederal.

Reason (R} : It has given more powers to the Central Government than to the State
Governments.

Answer options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R} is not a correct explanation of (A).
(3) (A} is true but (R) is false.

(4) (A} is false but (R} is true.

16.

foran deafies dierie ser fasrrel wiran Tsiadl sts=fia stresdl Bl Rl :
(1) e il whwa He e

() =

(@) Treae sreEdran < arevanEst HHi e

(@) oo wd

During the Third Five Year Plan period, the development process ran into serious difficulties
because of

(1) the process of agricultural growth had slowed down

(2) Ilarge trade deficit

(3) net saving rate, instead of rising further slumped down

(4) all the above

oA HEEE SN /SPACE FOR ROUGH WORK
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17. 125 YeEits Femer 9 g,

(1) SR =N T fefe

(2) THEYH VS TEHHM S W feieh S

(3) STUATIHIT I S FHIET HUSTe eIy

4) o FE

12 Five Year Plan emphasises on

(1) inclusiveness as poverty eradication

2} inclusiveness as group equity and regional balance

(3) focus on income inequality and inclusiveness as empowerment

4) - all the above

18. a1 Y& JEI@ueh! SVl HIGEHHET ed daaiiis de SRR Het ?
(1) 1980-85 (2) 1979-84 (3) 1978-83 (4) 1977-82
For which of the following period, VI'* Five Year Plan was announced by Janata Party ?

(1) 1980-85 (2) 1979-84 (3) 1978-83 (4) 1977-82

19. temr daafe Fier gEietst Fior s gt ?

() ¥iEE T (b) I (c) EHIRE ™
vt Y ;

(1) = (a) 3T (b) (2) K (a) ST (c)

(3) R (b) ST (c) () o ud

Which of the following were the objectives of IV Five Year Plan ?

(a) Growth with stability (b) Self-reliance (c) Social Justice
Answer Options :

(1)  Only (a) and (b) (2} Only (a) and (c)

(3} Only (b} and (¢} (4) All of the above

oAl HTHSE ST/ SPACE FOR ROUGH WORK
P.T.O.
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20. 1 A fgedia TavE anfor e o T 3 faume S o1,
(1) 10 =t d=@it I (2) 11 =t deEfies g
() 7 ot dgafis I (4) 12 9 =t e
is the first plan which states the objectives of inclusiveness and sustainability of
growth,
(1) 10t Five Year Plan (2) 11 Five Year Plan
(3) 7h Five Year Plan (4) 12 Five Year Plan
21. S HIE 0 AHa! g5 oAl U Aaaed 31 Wl 3etisre a1 Gee= T 1839

et FFAA FA.
(1) - T (2) st (3) cfm smfFwdle (1) AfFEswde

Anti-slavery International, one of the world’s oldest international human rights organisation
was founded in 1839 by activists.

(1) British (2} Belgian (3) South African (4) Mexican

22.

24 3T 2018 TSt GawHM =g IS i Wi How STt 3 HEl' A1 TR oEh H0
HRd ?

1) FeiRE @ g e
(3) YUl fHE (4) oo AR fH@n

Who is the author of the book * Atal Ji Ne Kaha' that was released by Prime Minister Narendra
Modi on 24 August, 2018 ?

(1) Brijendra Rehi (2) Sumit Rawat

(3) Ranveer Sinha (4) Vivek Kumar Singh

FoAT WA AFM/ SPACE FOR ROUGH WORK
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23, WIH U Wueve GUE QiR TieiE! v wE e qEie A aute hrihroEidt
TEUSIE 2019 301 2020 WISt SRR wew B e et AR ? |
(1) sfusifi, sSmftm, U, aftsem e g2
(2) <faor snfieerl, paq, S, Sifceen anft s
(3) T, sSrifrn, Sifufr Rafeom, se anfor whes
(4) fror anfipe, Siesam, s, dEmfEn enftr il Rafses
Which of the following five countries are elected for the two years term i.e. 2019 and 2020 as
a non-permanent members of UN Security Council ?
(1) Ethiopia, Indonesia, Peru, Belgium and Italy
(2) South Africa, Kuwait, Germany, Bolivia and Poland

(3) Kuwait, Indonesia, Dominican Republic, Germany and Sweden

(4)

4) South Africa, Belgium, Germany, Indonesia and Dominican Republic

24. mmmmwﬂwmmmmwmﬁmm

g gafaior suftn fawe (IBRD) i el 420 JU@w ST Sied Thedrsl HUal
TEIEFN e TR 7

(1) WERe (2) IWHA (3) Uy (4) I EEE

Which State Government and Government of India has signed agreement with World Bank’s
international Bank for Reconstruction and Development (IBRD) a US $ 420 million project
to help small and marginal farmers ?

(1) Maharashtra  (2) Uttar Pradesh (3) Rajasthan (4) Madhya Pradesh

25. SR IAEH-2018 (90 o) fasicur aeid WIS FIVGl ST T T8 2

1) wdfpre s - WY HHERAS

2) TEERE HEEEFE T - offewd S

@) wakhe s - T SiesEd

(4) wolitp® Wergs Sfma - el wiead ,

Which of the following pairs is mismatched about Oscar Award Winners-2018 (90th) ?
(1) Best Actress - Frances McDormand

(2) Best Supporting Actress - Allison Janney

(3) Best Actor - Gary Oldman

(4) Best Supporting Actor - Woody Harrelson

el HITETE T/ SPACE FOR ROUGH WORK
P.T.O.
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26. ofewed (WET 2018) femr g ai=h w1 il USgd RU[ fTaei Svam ame,
(1) e () wEmame  (3) sifem 4) @RES
Recently (September 2018) Hima Das was appointed as the sports ambassador of
(1) Assam (2) WestBengal (3) Odisha " (4) Jharkhand
27. ‘S 3EERMG’ 190 WIOeTE! HIvK A gente oTg ?
(1) ¥ T AR F-h I G I fad T 1995 9 wee! o, e geare ii,
W Y TR,
(2) d Y=ER AR fawiE TR Hid T,
(@) 2017 =, FviergEr IgfFds @ Sde qaiq fwam uwe 39 o).
4) 2017 =41 SNIfash YRR AFheH (EiaR WRA T 81 9 31,
Which one of the following statements is incorrect about ‘Transparency International’ ?-
(1) It is an international non-governmental organisation founded in 1995, which is based
in Paris, France.
(2) It publishes the corruption perception index.
(3)  As per index for 2017, New Zealand is the least corrupt country in the world.
(4) India ranked 81% in the global corruption perceptions index 2017,
28. ‘Y v QU e et faum faEn w1

(a) TET TG 2001 HA AL

(b) —TE YRATSN ARGEE! SS@ Tal=d TR T 378 gHeies S,

(0 @ e aut e Afyen feAron ffaam 8 we I WEUHIER qere Fo Sl

F{@Hen] BV Taem/7 seET o e/d?

(1) % (a) @ (@) 3 (b) (3) (b) 30 (c) (4) (@) (b) 3 (o)

Consider the following statements with regard to ‘Nari Shakti Puraskar’ :

(a) It was established in 2001.

(b) 1t is known as India’s highest civilian honour for women.

(c) It is conferred by the President on the occasion of International Women’s Day on
March 8, every year.

Which of the statements given above is/are correct ?
(1) Only (a) (2) (a)and (b) (3) (b)and () 4) (@), (b) and (c)

ool HIHTETS AT/ SPACE FOR ROUGH WORK
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29, HFER M0 yid WHale Maaur & 4-3hivH & TW 971,
(1) =g (2) SEES G
(3) TEEH | (4) Togm
Zokhawthar land immigration centre between Myanmar and India border is in
state. :
(1) Manipur (2) Arunachal Pradesh
(3) Meghalaya (4) Mizoram

30. UEioUe! A faum s,
(a) onfiaR Qeiy frdwm ‘ Siifefs ifwe e i’ € @5om w.
(b) 2018 = SRR B uieeHiars ‘s’ € udiE Ua WavaR .
() s a1 wamEd sar= 31 A,
(d) Afwa Aefts 2020 = Ao Geme st o1 ysr=n Q= gHEs HLvar JUR R,
e S
(1) (@ (b) © & @ ) d) @) (@ ) © @ ©
Find out the correct statements from below.
(a) Olympic Council of Asia governs the Asian Games.
(b) The Bridge Card game is introduced for the first time in Asian Games 2018.
(¢}  There is no age limit for this bridge game.

(d} The Bridge Card game will be introduced at Tokyo Olympics 2020.
Answer Options

1) @, ®) @ d) @ ®) () 3) @ (b)) @ © @

31. ¢ o faum foamra Sem criemer snenfa wdl frerd fedsewn waieiqa freret,

silesrd] 7 AU IS qFRSAT Uigedra] STl HRIU FdM. I ANFHSE S e

SETATH! A T Hael Wi, STl AR Yo FEhd el .

(1)  STET IS orhealiasicr= e SEarIsiieno e i,

(2) FAGHR TURENE JeEa IS daES dieedd.

3) mwmmmwﬁwwmmwﬁg@aﬂaw
SR Hh HHUARET G HLA.

(4) QEITHOE SScal dheHl Al AR T IR

Consider the following statements given below and select sensible conclusion based on this

from the given options.

Some claim to have seen UFOs (unidentified flying object). Life on other galaxies is considered

to be the possibility. Space travel is now an established fact.

(1) Information about UFO's is not yet documented.

(2) UFO's are sent on earth by intelligent extra-terrestrials.

(3) Some species living in other heavenly bodies have developed advanced technologies
and are trying to communicate with saintly persons on the earth.

(4) UFO's are heavenly bodies like earth.

HeA FHAE ART/SPACE FOR ROUGH WORK
P.T.O.
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32 TR Weh ST 3R STON AR WA WHikgd FYA wiwy) 9 . SR Wad U faum
T 8o @ ARt e
I : A I FO
;o AR
TG : 3 MAER AT Fd GE ey,
R whw A,
&t I ;
@ =R @ =R @) o @ &t
Four suspects, one of them is the guilty party, are being interrogated by the police. Select the
culprit if just only one of the statements is true.
Ani : Dadu did it.
Bani : It wasn't me.
Dadu : Ani is lying when he accuses me.
Eni : Bani is telling the truth.
Answer Options :
(1) Bani ) Dadu (3) Ani (4) Eni

33. o T, TEEER A’ TEIES 9 ‘B IEhe I90, STUYSN ThHS NNl 590 e,

@ A = E faes ol U SIS o AR W gEd faeg TRl el (NS oTR. St
U g3 fiaes o gal wives o1

(b) ‘B W I W U fagg T W€ e o, own Sede uw Sehe faea
TRI{Uh! Uk auhil 9 U e T gH SISk [6s Toita! T Fe T gHY Yis! aTe.

(c) SR/A’ 2 o i ‘B ¥ e TR Taoml TYl Sl o1ES vl ‘A7 = TYee 9 /B o whies 3
oS TSI WHR S w0 ‘B = hived) T 9% A’ =01 e TeiamR 3e?

gt J6

(1) aufEd _ ) wufed fohen f&ed

(3) & (4) wiel fohan fexa

Two cubes are placed near to each other in front of you in such a way that ‘A’ is to your left

and ‘B’ is to your right.

{a) One pair of opposite faces of cube ‘A’ is red and another pair of opposite faces is blue.
One of the remaining faces is yellow and other one is violet.

(b) Only two opposite faces of cube ‘B’ are blue. One of the remaining pairs of opposite
faces is brown and green and one of the other pair of opposite faces is black and white.

{(c) If red surface of ‘A’ and blue of ‘B’ are touching the table and yellow of ‘A’ and black of
‘B’ are facing you, then which coloured side of ‘B’ is facing blue side of ‘A" ?

Answer options :

(1) Brown {2) Either green or brown

(3) White (4) Either white or green

FHoAT HHEE AR/ SPACE FOR ROUGH WORK
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34. 'P,'Q,'R,’S,’T, U sufn v @ O el fafay O vidg oivm 0 ART - UisT, 9,
w1, fezan, fiaan, Hen suftn wiven suftn fafay dmen faerd aftam e sia e, o, e,
e W i faeii= 5@ 1 € TN %AM (order) HEU STETIS AL HIVER! a1
T {E v Sty e R oo .

‘Q A TS T TR URUM Fod1 SR = el fha frae I srwosean faett wftem e .
s’ 7 feemn e wiE snfor Tl L foeR 9ty et e, ‘P = wiéan snfvn v = e {0
TG e, T =1 9 37fH R’ =0 faeik & {1 e a1mea ‘v 7 e T v enfn ‘177 3 freemn
BTt foroR SRl 3R, (U A IO faean e drre aRe e e, ‘P A diel e Ry
e . AR = e 1Y faeR wi= oo 3 W I aRh Sl . U = wéa
IR ?

1) e (2) Hied (3) e fhar v (4) wifEh g e
P,’Q,'R,’S,'T, "U and 'V’ are the seven persons wearing a different colour shirts - white,
red, black, green, yellow, blue and violet and different colour trousers - blue, red, white,
black, grey, yellow and orange. The person’s colour of the shirt and the colour of the trousers

above are not necessarily in the same order. No person is wearing shirt and trousers of same
colour.

‘Q’ is wearing red colour shirt and is not wearing grey or yellow colour trousers. ‘S’ is wearing
green colour shirt and orange colour trousers. Colour of ‘P’s shirt and “V’s trousers is same.
Colour of “T’s shirt and ‘R’s trousers is same. ‘V’ is wearing blue shirt and ‘T’ is wearing blue
trousers. ‘U’ is not wearing any yellow dress. ‘P’ is not wearing a white shirt. Red and blue
is not the combination of shirts and trousers of any of the persons. What is the colour of ‘U’s
shirt ?

(1) Violet (2)  White (3) White or Violet (4) Data inadequate

35. Y& °R ¥ faym ¥ wge freed o smea. wrdf farspd Fraen,
e HINS ¥ PINS 371ed.
el SINS ¥ RINS 3114,
e ZINS ¥ SINS 1R,
Td PINS ® ZINS 311,
(1) =& ZINS ¥ PINS 31Rq. (2) W= ZINS B RINS 1.
(3) W RINS ? SINS 311ed. (4) ¥d HINS ? RINS 3T1eq.

Four true statements are given below and conclusions follow. Select the conclusion that
makes sense. '

All HINS are PINS

Some SINS are RINS

All ZINS are SINS

All PINS are ZINS

(1) Some ZINS are PINS (2)  All ZINS are RINS
(3)  AIl RINS are SINS (4)  AIl HINS are RINS

Al THHEG AR/ SPACE FOR ROUGH WORK
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36. ‘9IS’ anftn ‘ane’ AraREn Ao qxiErE) Sufkerdt qeaTeTe TR IR T 2eha TRl W SR
wEREe, i we T feadien famel € gF armi aRe o', o/ wWifie W ' fiedl wa =@
formdien faswat’ o/ diewa Tivaee W FTEE dfude o6 g T9d. 8 Fdl aRe 7% 8 K]
Higd s dfud R fGum #a TE. W Fae Afdd Ahd yehe w, € FR
‘1 el wa T fedien fasdt’ & o saaa om0 @Wid T e o foga @ ==
fofeearar a1, arer=n Teaen: wla, 8 G O SeRaEe ag RIS WX 2ehd A6l e Seun
SFI FE WEHe AV @9 Sqe! 3T § SRIauTe FH AT 9.

Te feeeuids ol gfsaaern 7= frsrd 3am yan e1fiversd woom v e

(1) +RAd JHY 3T o8 WuIl § e ATIHar e HLvarEl T A TR,

(2) e Sivfad SR gEE oe o1d yfauied S 31 9 asieared TR .

3) ‘e wes = foRwdten fovl & g3 armi aRe R = 3vY W ' el el e fehwden
foaredt’ weer .

(4) TGS TS IR 91 e W aEEE AR 950 H el

The presence of an ethical indicator, such as ‘right’ and "wrong/, add nothing to its factual
content. If I say to someone, “You acted wrongly in selling stale fruits at exorbitant price’, I
amn not stating anything nore than if 1 simply said, “You sold stale fruits at exorbitant price’.
In adding that this action is wrong I amn not making any further statement about it.
Iam simply evincing moral disapproval. ltis as if | had said, “You sold stale fruits at exorbitant
price’ in a tone of horror, or written it with exclamation marks after it. The tone or exclamation
mark adds nothing to the literal meaning of the sentence. It merely serves'to show that the
expression is attended by certain feelings in speaker.
Select from following options that best expresses the main conclusion of the above argument.
(1) Saying that something is wrong is just a way of showing disapproval.
(2) When somebody states that something is wrong, they are making statement of facts.
(3) “You acted wrongly in selling stale fruits at exorbitant price’, just means "You sold stale
fruits at exorbitant price’. '
(4) Adding to a statement the words ‘right’ or “wrong’ does not alter its factual content.

37. o, e, T i anfor S ure GiTedie Hed Whel Y A9 ed. oo 6 guie ore
o Fir v wat e HUae. O SO SHIs e Tl U fae A ge g, - e 9 <
ST T SR S o i St et v Hoeer,  A{eft S 21fue ST eedl. ifaw e
31ferer =g B! =71 T ey U™ 99 gl
R i HifE T e W qEeis] Tel I v TR o e U e fas
(1) IR R A (2) T IR S Bl
(3)  hifm SAfefRTam e gl (4) o famd A |
Kali, Arthur, Hema, Fatiina and Lena do a treasure hunt with five clues to find. Kali got all
the clues right but finished last. Lena got back second, but got two clues wrong. Hema got
two more questions right than Lena, but finished after her. Arthur wasn’t faster than Lena.
Fatima was faster than Hema, and only got one question wrong,

If these statements are true, select only one of the sentences given below that cannot be true.
(1) Fatima got back first (2) Hema was faster than Kali
(3) Fatima was faster than Arthur  (4) Lena came third

WHSAT FHIHEES A/ SPACE FOR ROUGH WORK
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38. e feowm arem a waeul wiad wifes<a gres SREd! adhgten e wiaAr fael

YRSENE®,
N © © ©
ORORON%
J @,
5 -
© ©

Select logically appropriate image for the fifth place of simple and continuous series of images
given below :

O
@'Jll
>y © © ©
ORORGN%
@ Q)
S -8
1) (2)

© ©

M)

OO0
200

/el HIATER AET/SPACE FOR ROUGH WORK ‘
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39. 3% I, T TEISURGH sa@l SfaE Td WS ST YN SFiA1 o TE0I8 weu[ Halvdm,
T=ATER 2iehl Hiar, S SCe0 AR d dEisiH At qrHEl 9o Hed € arsd 91 SRR
TR SIS B4, A A W] Bl ST 31107 Shalod T ST ATl F80T-Te oA ST &%
Y. TV e SYS- TSB! fohar STel- i+ Aegd T i e sk A Fia F
e, 25 Tu(Fes 07! e e T T =1 ke fSIhoe! e Faess Hiows STHuR.
e faeror =iE1 ey She e W FoaRgE F e ARTTER RS SR
wirsfya o o WuHe @i A FereaiT FER) s ot @

Fe gferarerar wafq drg gea frewd sfirsred wom faum fraer
(1) 25 Futalie oEdH Soo e Fer fredE .

Q) 25 SutErsie B Afae TS HiEd e gl

3) mﬁ%ﬁﬁmaﬁnﬁaﬁmmﬁaﬁwﬂmmﬁ
(4) TFE TEVA ARG S ST S,

Many people criticise what they call “the younger generation’ for what their seniors regard
as immoral behaviour. These critics need to realise that because the world has changed,
moral standards have changed with it. In fact, technology is advancing so rapidly that it is
only the young who understand the world in which they live. It is they, not their parents or
grandparents, who should be setting moral standards. Anyone over the age of 25 cannot
help but be blinded by what they learned in the past. Their education has prevented them
from perceiving and responding to the demands of the modern day, and so their moral
judgements have no validity.

Select one of the following that best expresses the main conclusion of the above argument.
(1) Moral judgements made by people over the age of 25 are not valid.

(2) Moral standarcis should be set by people under the age of 25.

(3) The younger generation is guilty of what older peo_ple regard as immoral behaviour.

(4) Young people are the only ones who understand the contemporary world.

T HETHES ST/ SPACE FOR ROUGH WORK
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40. <euel STl W fERTATES! |1, ST A MEW ", TfHehiwgA wie (@ e e,
ST S YA TR, $eH S SO STY. T Srarre Sfiien o, S Sifen ik T,
qier R A qAen IR SR e o TEid U0, a1 SifedieR [Eelet She e
U AT W T faum Free
(1) T THF gfEe S T R
(2) Ho 9 afeHe S TR TR UV O halfad arse fhen TR SR,

(3) TR uH TESAD S0 T 3,

(4) T THE IS S0 T SR IO FAAd o IOH AR I,

Damu stopped in a village called Aina, to ask the way to Etum. He got following information
from locals. Aina is to the east of Bori. Etum is to the north of Kurde. Donge is to the south
of Aina. Kurde is to the west of Donge. Assuming that east means, as near as it matters, “due
east”, select the one of the following that can be said by Damu with certainty.

(1) Ineed to go due west

| (2) Ineed to go to the west but it may be north-west or south-west
(3) Ineed to go to north-west
(4) Ineed to go to north but it may also be a bit west

41, WX FY A AUSTAE YA HEHE 1 AW 15 fafie iR gam w@ onfo w5l
e 30 fafe wiad. g 39 dSUctam | 34 STHeTH SatETEel ad 45 fafte Jiam anfn
Tt § 15 e aeRrRER gisd. SR SR 9 "R 07 : 30 @ X ddt IS e W
Riois! m faum faer

(1) TIOCRTHEAT YISTIEeAT QI FRUMICTAN ek Tkl TGl HIedell TR,
(2) 1215 I A2 § G & A T Y weTa e, |
(3) ST UISHIGTHT S WEHIGUAM W 7 dri=l Hioms TR,

(4) i1 BaTRTR fow= A Y St WA dea aled 39 e,

The ferry operating between ports X and Y is at sea for 1 hour and 15 minutes and is at its
berth at either end for 30 minutes. The hovercraft service between two ports takes only
45 minutes and is berthed for 15 minutes before returning. If they both leave port X at
07 : 30 am, select false statement from the following :

(1) There is exactly one hour between two successive departures of the hovercraft.

(2) At 12.15 ferry and hovercraft both are at Y.

(3) There is exactly three hours duration between two successive departures of the ferry.
(4) When hovercraft returns for third time at port Y boat will also returns there.

oAl HIAWEE S/ SPACE FOR ROUGH WORK
P.T.O.
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42,

20 A

e S TSI Ygiod! fhud 10% TIeat T i 918 B% T4 18] sl 919 SHa=al
FUM=E 2dhar! fae

| 1 1 1
0 6—% 6= — %
(1) 10% (2) 3 (3) 1 % (4) 911 %

In the new domestic budget, the price of a petrol rose by 10%, select the percentage by which
one must reduce the consumption so that the expenditure does not increase.

1
1) 10% @ 65% (3) 6% (@) 9_117%

43.

gt 10 fob o, et s fow s arelt 8 fob. M. T erEuIR == TEe S . SCHR
Tifear=a 100 Hiet Yg 3% | e THSvaMet Tioae SRR 3@ A4S

1y 2 fafwe @ 3fafe (3) 4 fafwe (4) 6 fafwe

A thief running at 8 km/hr is chased by police person who's speed is 10 km/hr. If the thief
is 100 m ahead of the policeman, then the time required for the policeman to catch the thief
will be :

(1) 2 minutes (2} 3 minutes (3) 4 minutes (4} 6 minutes

44.

I WSt fafcegaren ¥l 7 ; 00 il $3red g, Igearay T3 fasar e Teaahs
uifes. forgaseran R FHI sears fen a & fhfreie S Arevit meva fHoel.

fir fassiqe aRve Sors Ufser S Gehlcdl |0 aearal aR1 arien S el TeerH! faer
TE T, fael Some SEla S fnd! SR St et € SrEaur g9t fest.

(1) 1:59 (2) 2:35 (@) 2:59 (4) 1:39

Sylvia wanted to wake up at seven O'clock in the morning for dance practice. Aft.er waking
up she looked at her digital clock. She saw accompanying display of hours and minutes as a
result of lowering of batteries.

She saw light outside the window so she was sure that she cannot be more than fwelve
hours late after seven O clock in the moming. Select greatest amount of time that she could
be late in waking up.

(1) 1:59 (2) 2:35 (3) 2:59 (4y 1:39

ST HIATEE W/ SPACE FOR ROUGH WORK
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45. 1 94 WYHH W oA ST SSTEN 96 Fed 6. 8 S TSR HIuIrTa! e FIwwmor 0=
wwﬁaﬁmmwﬁamwmmq@wm pEEE
Wwﬁaﬁﬁwﬁﬁ ,
(1) TRTAEIE TG S B e I STaeae STed WH Aey FT0 FH0 AR,
(2) 12 3ufor 7,

(3) 13 @i 7.
(4) 7 amfor 13,

This year my new mango tree had 96 fruits for the first time. To celebrate this joy I wish to
hand out most of these to some of my neighbours as per our village tradition by leaving five
fruits on the tree for birds. All neighbours including my family must get the same number of

mangoes and I wish to give these to as many neighbours as possible. Each nelghbour should
get at least five mangoes.

Select the number of neighbours that would receive a bag of mangoes and number of mangoes
that each bag contains respectively.

(1} Itis difficult to distribute mangoes equally as number of fruits available distribution is

odd.
(2) 12 and 7.
3) 13 and 7.
(4) 7 and 13.
46. 91U wY A ;
10 - 19
1+5
1+5
15
(1) 6 (2} 10 (3) 8° (4) 144
Simplify :
10 - 19
145
1+5
15
(1) o (2) 10 3) 8 (4) 144

oAl HIWHES! WA/ SPACE FOR ROUGH WORK
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sfoare wHim Sieamen fdie 2 fafe 3 38 Yee o, e = aforg g M F=E.
O 3 Hisarael Raien 47 S IR OFEE. o1 @K 38 e,
(1) 6THFR; 3 Aehe () 2fufe; 6 dhe
(3) 3 fufe; 25 e (@) 5 3 Tae
Milo solves an Olympiad equation in 2 minutes 38 seconds. Jilo does it twice as fast. Gulo
needs 47 seconds more than Jilo. Select the time that Gulo needs.
(1) 6 minutes; 3 seconds (2) 2 minutes; 6 seconds
(3) 3 minutes; 25 seconds (4) 5 minutes; 3 seconds
Q P
D N C

AB=40 . 31fi1 BC=30 . W "= <M @ ¥eF@ o, Wi foem duresit @9 anfor
ST A <A wifes, Wi §He HaHiatdl ABCDA #en 3 Y anfor s AM, MN, NC,
CP, PQ s1for A v S a1 Wiae! Tifae. MN § PQ & Wil o e anftn sigFs BC
q CD Il FHI STHesedl Sl Sl Wyl o UEEmR] TR, ( STavsd IO e
Sl ST ) .
(1) 99 e Afys o areo.

(2) S HAYan i S o,

(3) o €9 TER SR \Te.

(4) WWWWW%Wﬁﬁw.
A M B

Q P

D — N C

There is a rectangular playground with AB=40 m and BC=30 m. The physical director
saw Sam and Jag yawning, He asked Sam to go round the playground ABCDA twice and
Jag to go along AM, MN, NC, CP, PQ and to A twice. MN and PQ. are walking tracks
perpendicular to each other and parallel to sides BC and CD respectively and touch the
boundary of playground. (Study accompanying figure if necessary.)
Select the correct option with respect to given information.
(1) Sam covered more distance than Jag.
(2) Jag covered more distance than Sam.
(3) Jag and Sam covered equal distances.
th
)

Jag covered % more distance than that covered by Sam.

oAl IS =/ SPACE FOR ROUGH WORK
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49. XAY 9 QA WeA Z A Taw= SEAian aTwd 20% N 28% HH e, qY & Hem X Aan fend
THh TR e ?

(1) 8% 2) 10% 3) 24% (4) 48%

Two numbers X and Y are respectively 20% and 28% less than the third number Z. By what
percentage is the number Y less than the number X ?

(1) 8% 2) 10% (3) 24% 4) 48%

50. gAY 9 € YN FATH Uhqdiene SR, T 91 geniauan F ot siAre 9§ €A q =
fegue iR, fronaw o =Eg | S1gA a1 SHTHe 9 Iui oEM 3, W agiad 94 fadl ?

(1) 24=W ) 32ad @) 12 (4) 1698
Age of Vedant is one-third times of Sushant, Heena’s age is half of Sushant and Beena’s age
is one and half times of the Heena’'s age. Nishant is twenty four years old, he is younger than

Beena by twelve years. Then what is age of Vedant ?

(1) 24 years (2) 32 years (3) 12 years (4) 16 years

51. el AFalpdr TS Siet d &<t 3 ; 2 A1 [OIAE 3. Us geshear aret 12 . am =
it T W 8 fafem Io wEE. W g Sewe fad ?

(1) 15360 =t#t.  (2) 153600 SLEL.  (3) 30720 AL (4) 307200 <=,
The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling

along the boundary of the park at a speed of 12 km/hr completes one round in 8 minutes,
then what is the area of the park ?

(1) 15360 sqm.  (2) 153600 sq.m. (3) 30720 sqm.  (4) 307200 sq.m.

52, THI QI G SR oA T 47,500 o197 famwie fwd T 43,700 1R, W ISl G @l
(1) 38% 2) 8% (3) 9% (4) B.5%
A television set marked at ¥ 47,500 was sold for T 43,700. Find the rate of discount.

(1) 38% 2) 8% 3) 9% 4) 85%

FHEAT HIMETS W/ SPACE FOR ROUGH WORK
P.T.O.
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53.

24 A

T GRS 100 S541 T 80 Teh A19AM! faehd Siqedn & el S1die fohird T 100 T Agam Saa.

T 60 BN BTG i ie o &l T 10% T2 BTl fhwdiat Anwmmo fasre, @ & Qg
el Rl TH e ?

1) 15% (2) 25% (3) 20% @) 10%

A shopkeeper purchased 100 umbrellas at ¥ 80 each and marked them at ¥ 100 each. IHe
sold 60 umbrellas at the market price and remaining by providing 10% discount on market
price. Find the net percentage profit earned by him.

1) 15% @) 25% (3) 20% 4) 10%

54. 90 T 180 i< T & 80 160 Henl=an WUEen fohell e 18 ?
(1) 80 @ 20 (3) 15 (4) 90
How much more is the average of numbers from 90 to 180 than average of numbers from
80 to 160 ?
(1) 80 (2) 20 (3) 15 4y 90
55. WO Ui fhd et

(0.96)> — (0.1)>
(0.96)% + 0.09% + (0.1)

(1) 0.86 (2) 0.95 3) 0.97 (4) 1.06

Find the value of :

(0.96)° — (0.1)°
(0.96)% + 0.096 + (0.1)

(1) 0.86 (2) 0.95 (3) 0.97 4) 1.06

HEAT HEES ART/SPACE FOR ROUGH WORK




A 25 ' N12
" . 1 . .
56. U HElwHl ania & el 4 T s 17 Hem A0, W ot F=H F0R ?
1 3 @ 7 G) 4 @ 9
1 th
A sum of square of number and its i part is 17. What is a number ?
1) 5 @ 7 (3) 4 | @ 9
57. & HEA 4 7 o™ @ 4, 12, 34, 51 91 o= w.4Lfa. e | ff den s ?
1) 136 (2 170 ¢) 154 @) 200
A number when increased by 4 it becomes the LCM of 4, 12, 34, 51, find that number.
1) 136 @) 170 (3) 154 @) 200
58. U YUITHa1 S A=A SIEMHAT 4 7 HIST AR, N Ui 3fvHe 11 fiesad 9 ¥]A 1 a0
.7 .
Ty feomm equiteial fhaa 3 B, T Y0 AYUiSH HIor ?
5 1 3
o 3 @ 3 @ 3 (@) A E
The denominator of a fraction is greater than the numerator by 4. If 11 is added to the
numerator and 1 is subtracted from the denominator, the value of the fraction obtained is EX
Then what is the original fraction ?
1 > 2 1 3 3
1 3 2 3 G 7 (4) None of these
59.

p MU q R = ARG, W p=7 TR/ q =13 FHAW S p=14 INS W q o fehua Hrer

1) 98 ) —1; 3) % @) 26

p and q are inversely proportional when p=7 then q=13, so when p=14, find the value
of q.

(1) 98 2 — 3) =3 {4) 26

HeAT RMAST 9T/ SPACE FOR ROUGH WORK
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60. ST 484 %144 = 69696, W £9.6% =7
144
(1) 48.4 2) 4.84 3) 2.22 @) 2.2
( 9.
If 484 X144 =69696, then 69.69% = 7?
144
(1) 48.4 (2) 4.84 (@) 2.22 ) 2.2
61, YehaThial @ 8 UH HTH IR,
(1) e (2) <ol
(3) SHIR! G S SN (4) SHUR WEATSAT ST SNE
Outstanding expenses is an item of .
(1) assets (2) labilities
(3) trading account debit side (4) trading account credit side
62, HERIE _ {1 SRS WAL

(1) &0 T feha dier T

(2) reHHE wEa fewfan
(3) WoHUS HEEiET

(4) @R HEI AT

Depreciation is charged to

(1) Ascertain true Profit or Loss

(2) Maintenance of asset in a state of efficiency
(3) Valuation of asset
(4) None of these
63. =N GEEE fGoo aRqE WIe T 2000 Bl AHERS .
(1) = e (2) =TI 3o e e
(3) R @ () ©EE G
Freight of ¥ 2000 paid on the purchase of Furniture charged to Account.
(1) Trading Account (2) Profit and Loss Account
(3) Furniture Account (4) Depreciation Account

FoET HFES! ST/ SPACE FOR ROUGH WORK
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64, TEHH W9 YA A T TN AR S
(1) vreHT= 48 IREEE
(2) TEHTS] THIh! oAl
(3) WIEHTH STERYS HedlE
(@) T Yo fhal aeiRus e Al HHI STHU AieHd=a] Joaiel
In case of Diminishing Balance Method the Depreciation is charged on
(1) Original cost of assets
(2) Book value of the assets
(3) Market value of the assets

(4} Book value or market value whichever is less value of Assets

65. R &R fircos Wo o oo Al EfEm Ad e a, i dAie . €d o
(1) = @ (2) %9 q TH
(3) g (4) =9 @ 9 e
If the closing stock is appearing in the Trial Balance it is shown in the
(1) trading account (2) profit and loss account
(3) balance sheet (4) trading account and balance sheet
66. FAY Yo FHHIROTIO) HT TR,
(1) wigTHE (2) S U@/ R =l
(3) QUi ¥R gHe (4) wEtET o
Entrance fees are generally '
(1) capitalised (2) taken as income
(3) treated as a liability (4) taken as expenses
67. = TG icod € Uhs @WHA fohar Tshs 51 s &4 gHifan.
(1) = st e T (2) ¥ st =g @
(3) T N T @ (4) I HE TE
Balance at the year end of represents cash in hand or cash overspent.
(1)  Receipt and Payment Account (2) Income and Expenditure Account
(3) Profit and Loss Account (4) None of these

oAl HTHIEIS SR/ SPACE FOR ROUGH WORK
P.T.O.
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68. TS Tk TR F0A N & WIS FAI ST,
(a) W& GaEU WA fesEEt
(b) WA SHEERIAT Tl A=A T
(c) o T Mg STt
(d) oAfem ¥ TR FoIRY
F{iaUeh! I faum st 3R ?
(1) (a) T (b) B 2 (a) 30T (c) B
3) (a), (c) Mo (d) Tl (4) (a), (b) iU (d) Tt
Following are the main objectives of preparation of Trial Balance.
(a) To have balances of all ledger accounts
(b) To have a proof of single entry of each transaction
(¢) To have arithmetic accuracy of the books of account
(d) To have material for preparing final Accounts
Which of the statements given above are correct ?
(1) (a) and (b) only (2) (a) and (c) only
(3) (@) (c) and (d) only (4)  (a), (b) and (d) only
69. TATeAT A SRl AT GHA HIVHEIE!, S WIeare] A FIS[E! SiS ST S STeiie SR
HH@ T A FEH TR,
(1) S = (2) T A (@) i o (4) =T ST
While balancing the Account, if the total of Debit side is greater than the total of credit side,
the difference is known as :
(1) Debit Balance (2) Credit Balance (3) Nil Balance (4) Current Balance
70. freie dws R wem _ o wdled SHfae SR
(1) TR w9 The ford (2) FUET qUneH
@) T A v (@) 0wy s fad
The Petty Cash Book is usually maintained on the basis of
1) Singie Column Cash book (2) Imprest System
(3) Double Entry System (4) Double Column Cash Book

FoAT TIWES 9T/ SPACE FOR ROUGH WORK
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71. S U TR GiOiE Y0 quile fEet .
(a) e 2 o foeos - T 5,80,000
b)) T o 9 fauE I Ao sy T 2,00,000
(c) THATS TH FSH T WHY 9GS 1 WSS AR | T 1,50,000
(d) ST I HE WA T SN TehoeaTSl ges He T 20,000
TS YR JTam (e 3o fiees fhdl ame?
(1) ¥ 6,50,000 (2) ¥ 5,50,000 (3) ¥ 5,10,000 (4) T 6,10,000
Following are the particulars of Bank Reconciliation statement given.
(a) Balance as per Cash Book T 5,80,000
(b) Cheque issued but not presented for payment T 2,00,000
(c) Cheque sent for collection but not collected T 1,50,000

(d) The Bank had wrongly debited the account of the firm by
T 20,000 which was rectified

What is the Balance as per Bank Passbook ?
(1) ¥ 6,50,000 (2) ¥ 550,000 (3) ¥ 510,000 (4) ¥ 6,10,000

72. TH WEN ¥ 3,90,000 FRTH TF 99 WE O A IUYE SgHIE 9K 9§ AR, onfr srgdy
@ Efie ged T 40,000 TR,

e w9 TEd SR atgg e TR
49 g FuHata freae el ged Tfee.
(1) ¥ 2,15,000 (2) ¥ 1,95,000 3) ¥ 1,75,000 (4) ¥ 3,02,500

A firm purchased a machine - for ¥ 3,90,000. The useful life of machine is four years and its
residual value is ¥ 40,000 at the end of the mentioned period.

Depreciation is to be provided on straight line method.
The net book value of machine after two years is

(1) ¥ 2,15,000 2) T 1,95,000 3) % 1,75,000 (4) ¥ 3,02,500

AT HWEE ST/ SPACE FOR ROUGH WORK
| P.T.O.
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73. fou eqefiar freedt dort . & Hod ww.
(1) S 9 &4 @i
(2) e Ser=A1 HIGHY &S|
(3) e SiEr=AT AT SN
(4) TR & del '

Donation received for a special purpose will be taken to the
(1} Income and Expenditure Account
(2) Assets side of the Balance sheet |
(3) Liabilities side of the Balance sheet

{4) Profit and Loss Account

74, GO FIE SRR AT € S S wd et HE AR @

(a) S W= faw! : (by =1 Wi fashiadie e

(c) S tE fireos (d) IS fHees Hewe foh

Tl v faur/faum ster 3 1rRd ?

1) (a) = @) (b)) ®H

(3)  (a) snftT (b) FF 4) (a), (c) nfor (d) T

Which of the following item should not be entered in Receipts and Payments Account ?
(a) Sale of old furniture (b) Loss on sale of old furniture

() Opening Cash Balance (d) Membership fee received in advance

Which of the statement given above is/are correct ?
(1)  (a) Only (2) (b) Only
(3) (a) and (b) Only (4) (a), (c) and (d) Only

Tl HIAEE ART/SPACE FOR ROUGH WORK
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75. HIGHIE MER SHROGTS SR/ FR Geid e,
(a) TEHR YRS AT SOy del
(b) FIEERE ST | Feames fHAdd He B
(c) difiren fachTamges ST e HioaTR 8
(d) HIEERT Tade S UiT ST S wd

Uﬂfﬁ?ﬁﬁ':
(1) (a) wH (2) (b) SN (c) w
(3) (d) w ' @ (), ), (c) 3o (d)

Following is/are cause/causes of Depreciation charged on Assets.
(@) The loss of utility of an assets due to its use

(b) An Assets is not used its value falls over a period of time

(c) Due to technological development old assets become outdéted
(d) An asset may get exhausted through constant working,
Answer options :

(1) (a) only (2) (b)and (c) only

(3) (d)only @) (a), (), (c) and ()

76. 31 W, 2000 QT S@iEdi-a¥] UM 30 I, 2000 vida 2 & o, e d sE @

FIFEHHS Hedr=l Alg RUA Hd TE,
(1) w9 | (2) gehaTR! I
(3) T feoen == (4) S faaese Soae

During the accounting year ending 315 March 2000, rent paid up to 30t June 2000. The
rent of April to June will be recorded as

(1} Outstanding Expenses (2} Outstanding Income

(3} Pre-paid Expenses (4) Income received in advance

oAl SHIHTHIS! AT/ SPACE FOR ROUGH WORK
P.T.O.
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77. 9 9 @9 @0 iE goaw aﬁmtﬁa:ﬂﬁé
(1) M frees () < ﬁm
(3) fices Tad @) S FRE T
The Income and Expenditure Accounts begins with :
(1) debit balance (2) credit balance
(3) no balance {4) none of the above
78. famr T SV FHA SR

(1) ug= faswan @ + T

(2) o= fontan @9 - dEe T
(@) < TR — T fawar @
(4) T TR — T Aw

Sales are equal to

(1
(2
@)

(4) Gross profit — Net profit

) Cost of goods sold + Profit
) Cost of goods sold ~ Gross profit

Gross profit — Cost of goods sold

79. WdHE=A TEUAER AR Heden feoe Wen oS B,
(1) TSt 9eeE o (2) #AYA
(3) dmE (4) 9O IH
is the amount given to a non-trading concern as per the will of a deceased
person.
(1) Life Membership Fees (2) Honorarium
(3) Legacy (4) Entrance Fees

FoslT SIS 9T/ SPACE FOR ROUGH WORK
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80, AWM RN At Siefua.

(1) FIOHHATERAL STHAT Tel (2) SeESI

@) e | (4 Wl aEd

Business transactions are recorded .

(1) In chronological order (2) Weekly

(3) Daily - (4) At the end of the month ‘
81. 1990 =1 SVHISN yearden fmiv wreen wu snftie e Y& R HIvd 2,

(1) VST SFHAS (2) NEF R fer

(3) wEEEE g9 (4) oo W@

What is the main cause of economic crisis of early 1990s ? '

(1) Fiscal imbalance (2) Fragile balance of payment mtuatmn

(3) Inflationary pressure (4) All the above ‘
82. waME fash! T Gy Hivre Tl B H0AN IS ?

(1) 1905 (2) 1935 (3) 1939 - (4) 1951

In which year, Sales Tax was imposed First time in India ?

(1) 1905 2) 1935 @) 1939 - (@) 1951
83. SNAWSY AR el WHSUH! SVl FR Yol HIRl Hetia 1% ?

(1} e (GATT) (2) TieH (GATS) (3) I (TRIPS). (4) T3T (AQA)

Which of the following agreement of WTO is related to agreement on services ?

(1) GATT (2) GATS (3) TRIPS (4) AOA
84. TRIGUSH! IV FZHT GHET ISERIHLOTHE Bl ?

(a) SIENFTF v@H ©
(b) ST MiSTS FG wEEleod Ayl
(c) SEISERIA] e To weheqio Wi frae W

At I :
(1) W (a) ST (b) (2) I (b) 3T (c)
3) W (a) 7 () : (4) o wd

Which of the following factors are included in Liberalisation ?
(@) Abolishing Industrial Licensing,

(b) Automatic clearance for imported capital goods.

() Filling information only of new projects by entrepreneurs.
Answer options : ‘

(1) Only () and (b) (2) Only (b) and (0
(3) Only (a) and (c) (4)  All the above

HEHT HTAHIS ST/ SPACE FOR ROUGH WORK
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85.

34 A

fe St IO 37 T A 3 A w0 o Hen s fr
a2 |

(@) 6 ZFn (b) 12 (c) 18 3F* (d)y 20 =TF&%
e I ;

(1) % (a), (b) 3 (c) (2) FH (a), (b) 30T (d)

@) EH (b) W () 4) =lewd

Which of the following tax rates were recommended by Vijay Kelkar Task Force for Centre
Government ?

(a) 6 percent (b) 12 percent () 18 percent (d) 20 percent
Answer options :

(1) Only (a), (b} and (c) (2) Only (a), (b) and (d)

(3) Only (b} and (c} (4) All the above

86.

GIAEH! R Teh SN, TH, . HYA TTSvI S N0 S T TR HL SHEE 2

(1) =& 9 Ygfoam sy (2) TR HeHAEle qEiF Yo

@) o9 (4) e wd

Which of the following items are excluded from the GST regime and to be taxed by the State
Government ?

(1) alcohol and petroleum products (2} stamp duties on real estate

(3) electricity duties (4) all the above

87.

et ferehte Fehten (e sfetErn) 7ed =1 THIS B,
(1) SeEEren e HiE gEand

(2) F°h oTIEH

(3) TAEL H FHTE e

@) o

Doha Development Agenda (Doha Declaration) consists

(1) Launch of a new round of negotiations

(2) Agricultural subsidies

3) " Environment and labour issues
{4y All above

el HIAMEST W/ SPACE FOR ROUGH WORK
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88. ‘U Ty feft’ <t wron QLIS SO a6l F0AE e 2

(1) 1991 (2) 2000 (3) 2005 (4) 2015
Which of the following year, ‘National Investment Fund’ was established ?

(1) 1991 (2) 2000 . (3) 2005 (4) 2015

89. VIO FIUK TR ST AU Wl Heifyd e ?
(a) oo wW
(b) SifeH HusEEHET SHUR FIR
(c) &% T HORHaTE1 Fgual FI
watet I :
(1) T (a) Wﬁ” (b) (2) P (a) I () (3) EH (b) MW () (4) o ¥
Which of the following agreements are related to World Trade Organisation ?
(a) Agreement on Agriculture
(b) Trade-Related Intellectual Property Rights
(c) Multilateral Agreements on Trade in Goods

Answer options :
(1) Only (a) and (b) (2) Only (a) and (c) (3) Only (b) and (c) (4) All the above

90. WHRRN T WIS AR UFA HIAG, 1969 T FEA JEIGIH! VR HIAGT FL0AT 3 ?
(1) faow anfde &= wEa, 2005

(2) Tacel fafwa =eeerd S, 1999

(3) faiia SEmecd ] SiqTIR I S, 2002

(4) w9l FE, 2002

Which of the following act passed by cancelling Monopolies and Restrictive Trade Practices
Act, 1969 ?

(1) Special Economic Zone Act, 2005
)
(3) Fiscal Responsibility and Budget Management Act, 2002
(4) Competition Act, 2002 '

Foreign Exchange Management Act, 1999

HTAT WS AFT/SPACE FOR ROUGH WORK o
PﬂTl .
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91. SFIfdeh AR WoeA= T [EIoUH! v fEaw wvam vt ?

Q) 15 fedsw, 1993 2) 30 fedaw, 1994

() 1 9Hard, 1995 (4) 1 AW, 1995

On which of the following day, World Trade Organisation was established ?

(1) 15t December, 1993 (2) 30t December, 1994

(3) 1% January, 1995 (4) 1% February, 1995
92, fHMQX R = EEY S

(1) R Y aave Adre gu

(2) =AMR ft Tl 4R e ey

(3) TN GEEE IREEa T SR 9t e

(4) = wd

Singapore iss;.le consists

(1) Relationship between trade and investment

(2) Interaction between trade and competition policy

(3) Transparency in Govt. purchase and trade facilitation
(4) All the above

93.

YRa W Reaspiorean qay snfede feerishor sdmAmed o GREE IIE] GHEY
2l

(1) e e

() fadia wameE

(3) =TaENdre frerda guron

(4) o wd

The macroeconomic stabilisation programme adopted by the government of India consists
measures like

{1) Control of inflation

(2) Fiscal adjustment
(3) Improve the balance of payment position
(4)  All the above

AT RIS S/ SPACE FOR ROUGH WORK
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94. STRULE AR Hee+=a1 (WTO) THdie oTcdd fawiayes Hovd ST i st gee
TSR FIHEST SHHFS 3 ?
(1) fareTie 3 2 fowfaa 3w
(3) T WG oW (4) THIURART WG SRIHE R

Due to extreme inequality within the structure of WTO, basic agreements and subsequent
amendments are stacked in favour of which of the following ?

(1) developing countries (2) developed countries
(3) all member countries (4) not any member country

95. VAN ITAH T YUl YREd-E Bd 2
(1) SO TR SEAER SIEIa SR Soio Wa: Y e SUauar Twar 3o,
@) Fa aF fafmr et fiEe oo,
3) TR G SR SIS =oTe e 4ol Stavard wer e .
(4) TASUH HIUEE AL :
What makes currency fully convertible ?

(1) Allow currency to determine it's own exchange rate in international market without
any official intervention

(2) The Central Bank have control on exchange rate

(3) All currency to determine it's own exchange rate in international market by politically

(4) Nene of the above

96. SIFThIFLO TEIGTHT IVl RIS Tafa 318 ?

(a) SHTIR SUAHE FHU (b) viEHETE HKi WaTE
(c) <A e HaTe (d) Afthi=n qad garE
gidt I '

V) (b), () () @ @), () ()
(3) ®H (a), (c) MMV (d) (4) wHiowd
Globalisation is related to which of the following factors ?

{a) Reduction in Trade Barriers (b)  Free Flow of Capital
(c) Free Flow of Technology (d) Free Flow of Labour
Answer options :

(1)  Only (b), (c) and (d) (2)  Only (a), (b) and (c)
(3) Only (a), (c) and (d) (4) All of the above

FHeedT HHEE ST/ SPACE FOR ROUGH WORK
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97.

38 | A
e TRIFANT JRTAH S0 JarRme] 9 GHE Bl
(1) o%G o Haf=1 =R (2) wigdoHl gEEe
(3) wigaw™ weo 4) =i wd
From an economic point of view channels of globalisation consists
(1) Trade in goods and services (2j Movement of capital
(3) Flow of finance (4)  All the above

98.

GEI] HIvIeN HUUEST AR 7 VA R SHERTE ey faer o i e

(a) W= (CENVAT) (b) Wie=e (MODVAT)
() HAM &L (d) Tamt =
T I ;

(1) TR (2) SO (D) (2) FH (2) AN () () FH () AV () (4) FoF

Which of the following taxes were replaced by Goods and Services Tax by the recommendation
of Vijay Kelkar Committee ?

(a) CENVAT (b) MODVAT

(c) Service Tax (d) Sales Tax

Answer options :
(1) Only (a) and (b) (2) Only (a) and (c) (3) Only (c) and (d) (4) All the above

99.

FIGURN Yo FTedld A & 3791 ¥ 21l i 9 .

(1) Hgew sffea st Sfee 2.

() Wiiatie SR dde e Feia S gt

(3) HHAReF Tafas o uREteie g

(4) oo wd

During, the pre-tax reform period, India had become a country
(1) with the uncertain and complex customs duties

(2)  with the highest level of customs tariff in the world

(3)  with the flexible and elastic customs duties
(4) all the above

FoAT HIATEG WM/ SPACE FOR ROUGH WORK




A 39 - N12

100, Tadiw sfds &% swe=n Sy gEoist I g9Re B ?
| @) g 3 Yo Faide D
(b) oI Wiewe
(c) TR i
(d) I e fawr
Wiﬁ 3“\"\‘ H
(1) o (a) S0 (b) (2) R () 30 (d)
(3) I (b) AT (c) (4) oo wd
Which of the following objectives are included in Special Economic Zone Act ?
(a) Promotion of exports of goods and services
(b) Promotion of investment
(c) Creation of employment opportunities

(d) Development of infrastructure facilities

Answer options :

(1) Only (a) and (b) (2) Only (c) and (d)
(3) Only (b) and (c) (4) All of the above
-00o-
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A — (9= 1 981 q2.... )

©) Teyfaene fafea Foem fafne wrie #= &0 (WF ad) 9. Tgiasialiea et o1 g
FIEER Fod FH FEA 7 Hid T RBIH FS AR, FH TS GRS 9 @R SHIIRER AEAH
Sl e e} BT AR Wiy FEEes sfufEn-82'! aIdie aSER HNaT
e 9 I ekl FHIG Th TN FREEEA 07/ e U geR Wi S d u EiEs,

(9) & ITHEFRAR R fafta $OH d Tucara AR @ wegfiae! W aiet gharhaet 98
T TEET AR, T ORI aIany Sruargdl Shear Taedr SHiE e Uit-1 UHASTERES T
fororen T w0 aTavEe TR

W.eh, 201.

. wh. 201

AT U9
T e T FIVIREIEST S e T el ?
(1) T ARG @) s famEnR
@) T THHE @) TR e
W OAER A IR (3) T THEET G S MR, @nje 9 g IW C(3) oo, A
THFFE T . 201 FOE Sw-wAE C(3)" ¥ Fde v emEifEd wed el evEs
. '
ONEON MO
ST T TR FERERNS T Fe Il A IT-shHich & TR SaeRic JUeRl Sl
1 SRR Gaftd e Y0 Sfifha Sed TEaEl.  gehidl He o g
e A, A 91 T U Tue T8,
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